Fion
3y
i
Whon =

2
6y =
,.ij o1

(1)

1 10+ 2 7y M
[ :
Ju-x @SV 4 Y

N -0
2
~ , 2. J
o C 2w 4 X
A= %.5? ¥ 0



) iﬁ%?w i B
b 49 - L
3 ) Yo+ 7 ]
Y4y
%Ef
f@ﬁ%:i & j{i;%é)fg};g RS Smoo T
s§ @%% ;§ not ] Suffﬁféz
:‘:’"i’j
Y= -1
7= -4
9. (0,0, 0)

Howot (o ,0,0) LD

)

taﬂgm‘t ?ia;@g; (b%{:}(%m@a}% (0+¢) (@ b

+(a+by(®zrz-C)= 0

Ly iﬁb%‘}}( %(C@%{};‘j + (o0+bhy 7 = L
L GEQ:{‘ZX 2y -1%

% 5

[E—

fank = 7 F (o gz0E

tangent voctor =

g

S EACEE SIS AT R 2 0% -y ]



A

Angthor way"

2 Z 2

fry = 7

X+4y - -7

- Zfﬁii}g:@

W han Yy =0

y B 2
= X-féij%z';{jzz

i ther oo 9f JT0

({};“Z;z}” B = 1ing
When Y=o (mzqu\';! Ly - \Sf ling

g s a Smoolh

net 2= 311y

2y = 3tx-n

, 9 2
DR

£

{/

7
> Y s 0 $mooth ,

jj} net, u=v X{x+yr=0 , Y

Sur J%{@

S E Y.



